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0% 50% 100% 0% 50% 100% 0% 50% 100%
&1k (n=663) 4.2 I 2.0 | | E 3.8 I I
[ st s5 50 ] -
IBRSILER (n=67) [ 4.5 1.5 -1_5
IBAESILPEHE (n=160) [& 6.9 2.5 E4.4
& H (n=56) -o.o 5.4 -1.8
PN (n=85) Es.s | 1.2 - 5.9
LR (n=64) - 1.6 E 3.1 7.8
=R (n=8) -o.o -o.o -o.o
R (n=11) -o.o -o.o -o.o
A (n=14) -o.o -0.0 -o.o
HAH (n=20) 5.0 -o.o E 5.0
F (n=23) 8.7 E43 -oo
PN (n=68) | 1.5 -o.o - 15
ikl (n=5) 0.0 -o.o -o.o
il (n=12) [ 8.3 o0 00
FH £ (n=35) [ 1.4 -0.0 -0.0
[ (n=8) |00 -0.0 -o.o
St (n=7) | 0.0 E 143 -
[#£51] -
FHE (n=290) 59 E 28
Z Pt (n=354) 2.5 - 1.4
|G EEAVIID -
18/% ~195% (n=13) | 0.0 0.0
206~203% (n=12) ff 4.8 E 7.1
303 ~395% (n=71) ff 2.8 -0.0
4086~ 497% (n=109) [ 5.5 E 3.7
5ORE~597% (n=124) [ 8.1 - 16
607 ~69%% (n=148) [{ 3.4 - 14
08 L (n=144) ff 2.1 - 14
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